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Goal 1: Do recognize the type of model that is present?
Goal 2: Can you determine the rate of change as a decimal?
Goal 3: Can you determine the rate of change as a percent?
Goal 4: Can you complete a table related to the population
over time?

Goal 5: Do you know the initial population from the model?
Goal 6: Can you connect the graph of the model to its
function?

Goal 7: Can you label points from a table on the graph of a
model? (including its initial point)
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What type of model is present? W/€LLAY growth or decay SD\U{ | -]- =0 <(£)
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What is the rate of change as a decimal? ~ l'; What is the rate of change asa

percentage?“\a % AT == 0 1'2
What was the initial population? IO ®)
What does the point (15, 14.7) mean? The 15 tells us :h' mMme while the 14.7

tells us @P, g\a:hon

(the unit of time was not specifically mentioned but it can be seconds, minutes, hours,
decades, etc. it just depends on scenario and populatlon we are observing)
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“Other” Questions that you might be asked to do when given the model, like thfs
scenario

1. Complete the table related to the given model (Remembe makes a
table with Tl 84) y: (60 (0.3 83»(
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2. When does this population reacH % of its initial poputation: T ‘k«)
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2. solve the equation 50=100(0.88)
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1. Given model A(x) = 200(1.25)

What type of model is present? 3 r decay

What is the rate of change as a decimal?o aZ What is the rate of change as a percentage?l 5%
200 N

What was the initial population? O

Complete the table related to the given model (Remember 2™ Graph makes a table with T1 84 or just plug in these x

wvalues into the function on any calculator)
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Sketch a graph of A(x) label at least three points ONE POINT MUST be the y intercept
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5. Given model A(x) = 50(4)*

What type of model is present? ? (‘U-\J%r decay
What is the rate of change as a decimal? E D What is the rate of change as a percentageg DQ

What was the initial population? : S O

Complete the table related to the given model (Remember 2™ Graph makes a table with Tl 84 or just plug in these x
values into the function on any calculator)

A SO (200 [g00 (3200 12800 S12o0 20430

Sketch a graph of A(x) label at least three points ONE POINT MUST be the y intercept

Alx) population after time
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